{W@m?j i=§: 'r:s.; ':-




2

e -_______._-——_'-du
8 IfA=(l2 3 B=(2 5, then AUBIS

i i ber.
9 — s considered as the ideal index num et :
es is 9 and the fifth ter

he fourth term of Serigg

10 The second term of G P seri
1S

(10 % 1= 10 magj,

Part B (Short Answer Questions)

eight guestions:
n carries 2 marks.

G P is 35 and their product

Answer any .
i < 1000. Find the terms,
11 The sum of three continuous terms in '
12 What do you mean by harmonic Mean ?
13 What is an index number ?

14 IfU=(1,2, 3,4, 5} and A = {2, 4, 5), Find AC.

6
1S3 el Lo '@ doalion.
0 3 5 1 1 — 2

15 HA:[

16 Represent, A JB A[?]B, and A — R b;" me ans of venn diagram.

17 Solve 5x% —125=0.
18 Of the 100 borders of a h iste. 80 d-ink tea , 40 drink coffee and 20 drink tea and coffee. How
many of them drink n.ith r*:a nor coffee ?
19 Explain the limi' = liow = of statistics.
20 Explain the v .cs ot .7 Jdex numbers.
(8 x 2 = 16 marks
Part C

Answer any six questions.
Each question carries 4 marks.

21 Find an appropriate index from the following data ;—

Items Price 2004 Price 200 .
A 2 4 e, Wy ;"nsumed
B 8 9
C 7 . 5
D 5 2 8
2
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